
















Worksheet-5        Z               
(Basic Geometrical Ideas) 

 

1. ie`k kwgj qy iqMn ibMdU lgwau Aqy iehnW nUM v`K-2 nW idau[ iehnW nUM joV ky bxy ryKwKMfW dy nW ilKo[ 

Draw three points on a paper and give different names. Join these points and name the line 

segments made by joining these pionts. 

 

 

 

 

 

2. jykr do ryKwvW qy ie`k sWJw ibMdU hovy qW auh_________ ryKwvW khwauNdIAW hn[ 

If two lines have one common points then they are called_______ 

3. do ryKwvW ie`k qoN ijAwdw ibMdUAW qy k`t skdIAW hn[ (shI/ glq) 

Two lines intersect at more than one point. (true/false) 

4. do qoN ijAwdw ryKwvW ie`k hI ibMdU qy k`t skdIAW hn[ (shI/glq) 

More than two lines intersect at  one point. (true/false) 

5. id`qy hoey ic`qr iv`c koxW dy nW ilKo[Name the angles in following figure. 

 

 

6. nwl id`qy ic`qr iv`c auhnW ibMdUAW dy nW ilKo ijhVy:  

Give the names of points in following figure  which are: 

1) iqRBuj dy AMdr siQq hn[Inside the triangle. 

 2) iqRBuj dy au~pr hn[On the triangle. 

 3) iqRBuj dy bwhr siQq hn[Outside the triangle. 

7. jykr koeI vkr ryKw Awpxy Awp nUM nW k`ty qW auh ___________________ vkr huMdI  hY[ 

If any curve does not intersect itself then the curve is called____________ 

8. cwr BujwvW vwlw bhuBuj _______________ khwauNdw hY[ 

A polygon with four sides is called____________ 

9. kyNdr ivcoN ho ky jwx vwlI jIvw c`kr dw ______________ khwauNdI hY  

A chord passing through centre is called ____________ 

 



10. ie`k cqurBuj ABCD bxwau Aqy ies iv`c      

 (a)  snmu`K BujwvW dy joVy ilKo[   ____________ 

 (A) lwgvIAW BujwvW dy joVy ilKo[ ____________ 

 (e) lwgvyN koxW dy joVy ilKo[      ____________ 

Draw a quadrilateral ABCD and write 

a) pair of opposite sides               ____________ 

b) pair of adjacent sides               ____________ 

c) pair of adjacent angles             ____________                                                                                                                        

 

11. hyTW id`qIAW ivcoN Ku`lI vkr d`so[ 

Which of the following is an open curve? 

 

 

 

12. hyT id`qI ic`qr ivcoN 8 iqRBujW dy nW dso[  

Give the names of 8 triangles in following figure. 

 

 

13. c`kr qy siQq koeI do ibMdU imlwaux qy bxn vwly ryKwKMf nUM kI kihMdy hn? 

What is the name of a line segment made by joining any two points on a circle 

14. c`kr dy AMdr siQq auh ibMdU jo c`kr qy siQq swry ibMdUAW qoN smwn dUrI qy huMdw hY ausnUM c`kr dw 

____________ kihMdy hn[ A point which lies inside the circle and at equal distance from all 

points on the circle is called ______ 

15. ie`k iqRBuj ABC bxwau iesdy AMdrunI Bwg iv`c iek ibMdU D lau[ D nUM ibMdUAW A,B Aqy C nwl 

imlwa[ dso iqRBuj ikMny BwgW iv`c vMifAw jWdw hY[ iehnW BwgW dy nW ilKo[ 

Draw a  ABC and take a point D inside it and join D with the points A,B and C. Now tell in how 

many parts the triangle will be divided and name these parts. 

 



















Worksheet-10                                 
        (Data Handling) 

1H nfws B/ S'fbnK d/ e[ZM phi iwhB ftZu phi/. jo uko fdB pknd g"d/ dh T[~ukJh wkgh ns/ j/m fbyh 
;koDh pDkJh. jo fpzd{ dh T[ZukJh B{z fBo{fgs eo'.                                         
Amit plants some seeds of gram and he measured the height of plant after every four days. Plot 

the height of every point.  

 

2H gzi fGzB^fGzB PfjoK yzBk, gfNnkbk, pfmzvk, ;ofjzd ns/ cohde'N ftZu ;szpo wjhB/ ftZu t/uhnK rJhnK  
ekoK dh ;zfynk j/mK fdZsh rJh j?^The number of cars sold in month of september in five different cities 

Khanna, Bathinda, Sirhind, Patiala and Faridkot are as follows. 

 
Pfjo (City) yzBk (Khanna) gfNnkbk(Patiala) pfmzvk(Bathinda) ;ofjzd(Sirhind) cohde'N(Faridkot) 

t/uhnK rJhnK 
ekoK  

(Sold Cars) 

 
600 

 
300 

 
400 

 
200 

 
500 

 
T[go'es ;{uBk bJh fuZso rqkc g{ok eo'.              
Complete the Pictograph of following table                        ;ze/s (Symbol)-                      = 100 ekoK (Cars) 

 
 

 

 
3H o'Bkbv B/ nkgDh iwks d/ ftfdnkoEhnK d[nkok g;zd ehs/ ikD tkb/ cbK dh ;koDh pDkJh j?.    fuzBQ fJZe 

ftfdnkoEh dh ;{uBk fdzdk j?. ;koDh ftZu ftfdnkoEhnK dh ;zfynk g{oh eo'. Ronald prepare a table of 

favorite fruits of the students of his class.      symbol indicates a student. Complete the number of 

students in the table. 

 

 

 

fdB (Day) 
g"d/ dh T[~ukJh  ;w ftZu 

( height in cm) 

 0 0 
4 1H4 
8 5H3 
12 9H5 
16 10H9 

yzBk (Khanna)  

gfNnkbk(Patiala)  

pfmzvk(Bathinda)  

;ofjzd(Sirhind)  

cohde'N(Faridkot)  



 

  

cb (Fruit)  fuzBQ (Symbol) 
ftfdnkoEhnK dh ;zfynk  

(No. of Students) 

e/bk (Banana)   

;zsok (Orange)   

;/p (Apple)   

nwo{d (Guvava)   

 
4H fe;/ fgzv ftZu ;oe; bZrh j'Jh j?. ;'wtko s'A P[Zeotko sZe ;oe; d/yD nkJ/ pZfunK dh frDsh fuZsorqkc 

d[nkok do;kJh rJh j?. j/mK fdZs/ fuZsorqkc B{z fXnkB Bkb gVQ e/ T[Zso fdU.There is a Circus show in a 

village. Number of children who are coming to see the circus from Monday to Friday are shown in a 

Pictograph. Answer following questions by reading Pictograph.              (;ze/s (Symbol)-          = 25 pZu/)  

;'wtko (Monday)  

wzrbtko (Tuesday)  

p[ZXtko (Wednesday)  

thotko (Thrusday)  

P[Zeotko (Friday)  

T/) wzrbtko Bzzzzzzzz{ fezB/ pZu/ ;oe; d/yD nkJ/< How many children came on Monday to watch circus? 
n) fe; fdB ;G s'A tZX pZu/ ;oe; d/yD nkJ/ ns/ fezB/< On which day maximum number of children came 

and how many? 
J) ;'wtko ns/ p[ZXtko B{z e[Zb fezB/ pZfunK B/ ;oe; d/yh< Total number of children who watch circus on 

Monday and Wednesday? 
5H ;t/o/ 6 ti/ s'A d[gfjo 12 ti/ sZe jo xzN/ ftZu u"okj/ s'A j' e/ ikD tkbhnK rZvhnK dh ;zfynk j/mK SV rqkc  

d[nkok do;kJh rJh j?. rqkc B{z ;wM e/ T[Zso fdT[.                       
The number of cars pass through crossing in every hour from 6 AM to 12 AM are shown by Histograph. 

Read carefully and answer following. 

T) ;G s'A tZX nktkikJh ed'A j? ns/ fezBh j?< When is maximum number of transportation and how much? 
n) ;G s'A xZN nktkikJh ed'A j? ns/ fezBh j?< When is minimum number of transportation and how much? 
J) 8 s'A 10 ti/ sZe e[Zb fezBh nktkikJh j?< From 8 AM to 10 AM how much transportation is there? 

 



Worksheet-11                                                     

(Mensuration) 

1H ;kv/ o'ikBk ihtB ftZu gfowkg d/ fynkb B{z pj[s tko gq:'r ftZu fbnkdK iKdk j?.  
fit/A fe fJZe fe;kB fijVk nkgD/ y/s d/ uko/ gk;/ fJZe tkV brkT[Dk ukj[zdk j?. 
fJj' fijhnK gzi ;fEshnK dh T[dkjoBK fdU.  
The idea of perimeter is widely used in our daily life. For example a farmer who 

wants to fence his field. Give five examples of these situations . 

 
 
 

2H ;koDh g{oh eo'L (Fill the table)                                                   

   ;wpj[G[i dk BK 
 (Name of regular polygon) 

;wnkfeqsh (Regular Shape) gfowkg$x/ok (Perimeter) 

tor (Square)  4  fJZe G[ik dh bzpkJh  
4x (Length of One side) 

;wG[ih fsqG[i  
(Equilateral Triangle) 

 

HHHHHHHHHHH 
;wgziG[i ( Regular Pentagon)  

HHHHHHHHHHH 
;wS/G[i (Regular Hexagon)  

HHHHHHHHHHH 
3H j/mK fdZshnK nkfeqshnK dk gfowkg gsk eo'L(Find the perimeter of the following figures:)  

 
gfowkg(Perimeter)                  

                              
                   

 gfowkg(Perimeter)               

                                                      
                                              

 
                           

 
                         

 
                   

 
gfowkg(Perimeter)   HHHHH O HHHHH O HHHHH O HHHHH O                           
 

         HHHHH O HHHHHO HHHHH 
 

                    &  HHHHHHHHH 



 
4H fe;/ ;wsb nkfeqsh d/ y//socb dh fJekJh eh j[zdh j?< 

What is the unit of area of plane figure? 

5H whok 150 whH bzpkJh ns/ 80 whH u"VkJh tkb/ fJZe gkoe ftZu iKdh j?. T[j fJ; gkoe dk g[ok uZeo brkT[Adh 
j?. T[; tZb'A s?n ehsh d{oh gsk eo'.                           
Meera goes to park having length 150 m and breadth 80 m. She completes one round around the park. 

Find the distance she covered. 

 
 

 

6H fJZe Xkr/ dk N[eVk 30 ;w bzpkJh dk j?. jo/e G[ik dh bzpkJh fezBh j't/rh i/eo Xkr/ Bkb ;wS/G[i pDkfJnk 
iKdk j??<(There is a 30 cm piece of string. What will be the side of a regular hexagon made by this string?             

 

 

 
7H  fe; nkfeqsh dk y/socb tZX j't/rk< (Which figure has larger area?) 

 

 

 

8H 1 tor whNo ftZu fezB/ tor ;w j[zd/ jB< (How many     are in 1   ?)  

9H ;koDh g{oh eo'L (Fill the table)                                  

nkfJs$tor dh bzpkJh 
(Length of rectangle/Square) 

nkfJs$tor dh u"VkJh 
(Breadth of rectangle/Square) 

nkfJs$tor dk y/socb 
(Area of  rectangle/Square) 

3 ;w 2 ;w HHHHHHHHHHHH 
5 ;w 4 ;w HHHHHHHHHHHHH 
7 ;w 7 ;w HHHHHHHHHHHHH 

 
10H fJZe nkfJskeko rZs/ dk y/socb 36 tor ;w j? ns/ fJ;dh bzpkJh 9 ;w j?. rZs/ dh u"VkJh gsk eo'.  

 The area of rectangular card is 36 square cm. and its length is 9 cm. Find the breadth of card. 
 
 

 
11H fJZe torkeko gbkN dk y/socb gsk eo' fi;dh fJZe G[ik dh bzpkJh 4 ;w j't/.   

 Find the area of Square plot whose one side is 4 cm. 



Worksheet-12                                           
(Algebra) 

1H shbhnK d/ j/m fdZs/ Bw{B/ pDkT[D d/ bJh b'VhAdhnK shbhnK dh ;zfynk d/ bJh fB:w gsk eo'. fB:w 
fbZyD bJh fJZe ub ;zfynk dk gq:'r eo'.Find the rule for number of matchsticks required to make 

the following matchsticks patterns. Use a variable to write a rule 
 

b'VhAdhnK shbhnK dh ;zfynK      dk w[Zb 1,2,3HHHHHH 
 

  HHHHHHHH      HHHHHHHHHH 

b'VhAdhnK shbhnK dh ;zfynK        dk w[Zb 1,2,3HHHHHH 
 

 HHHHHHHH    
HHHHHHHH   HHHHHHHH      HHHHHHHH       b'VhAdhnK shbhnK dh ;zfynK       dk w[Zb 1,2,3HHHHHH 

 
        
2H ;koDh B{z g{ok eo'L Fill the Table: 

 
feskpK (Books) feskpK dk w[Zb  

(Price of Books) 

ftnzie (Expression) 

 
10 o[gJ/ 

............ 

 

......... 

 

......... 

 

......... 

  
3H bhbk B/ g?Bf;bK d/ K g?e/N yohd/. okXk B/ bhbk Bkb'A 2 j'o g?e/N tZX yohd/.okXk ns/ bhbk 

tZb'A yohd/ rJ/ e[Zb g?e/N ftnzie okjhA do;kU.  
Leela buys K packets of pencils. Radha buys packet of two pencils more than Leela. 
Write an expression for the total number of packets of pencils. 

 
 
 
4H ;kXkoD fB:wK ftZu uZb dh tos'A eoe/ j/m fbyh ;koDh g{oh eo'.          

By using Variables in common rules fill the following table: 

 



5H  ;koDh g{oh eo'L Fill the Table: 

 
phirfDs d/ fB:w 
Rules of Algebra 

T[dkjoB$fuZso 
Example/ Figure 

ftnzie 
Expression 

 
d' ;zfynktK d/ i'Vcb dk 
eqw tNKdok r[D 
Commutativity of 
addition of numbers.  

 
 
 
 
                ns/       

          

 
d' ;zfynktK d/ r[DBcb 
dk eqw^tNKdok  
Commutativity of 
multiplication of two 
numbers. 

 

          

 
6H ekbw A ns/ B dk fwbkB eo'L Match the columns A and B: 

 
Column A Column B 

(i)  c B{z 5 Bkb r[Dk eoB s/(c multiplied by 5) 

 
(ii)  z ftZu'A 9 xNkT[D s/(9 substracted from z) 

 
(iii) p B{z 4 Bkb Gkr eoB s/(p divided by 4) 

 
(iv) q B{z d[ZrDk eoB s/ (q is doubled) 

 
(v) gfjbK y B{z 2 Bkb r[Dk eoe/ gqkgs 
r[DBcb ftZu'A 5 xNkT[D s/. 
First y multiplied by 2 then 5 Subtracted 
from the product 

 

   
 

     
 

    
 
   

 
 

 
 

 
 

 

7H ftnzie gsk eo'L okw e'b Pkw Bkb'A fszB p'sbK finkdk jB, idfe Pkw e'b pe;/ ftZu 
e[Zb x p'sbK jB.                                          

Write an expression: Sham has x bottles in a box. Ram has three bottles more than 
Sham. 

 
 

8H ekbw   ns/    dk fwbkD eo'L Match the Columns         : 
  

Column I 
 

Column II 
 

(i)       
 

  

(ii)       
 

   

(iii)        
 

  

(iv) 
 

 
     



Worksheet-13                                                 
   (Ratio and Proportion) 

1H  fuZso B{z d/y' ns/ j/m fby/ gqPBK d/ T[Zso fdUL                                          
 (Read Figure and answer following questions:)     

T) fezB/ torK ftZu ozr ehsk frnk j?< How many squares are shaded? 
n) fezB/ torK ftZu ozr Bjh ehsk frnk j?< How many squares are blank? 
J) ozr ehs/ torK dk ozrjhB torK Bkb nB[gks gsk eo'. What is the ratio of shaded squares to blank squares? 
2H ;koDh B{z g{ok eo'L ( Try to complete Table:)  

bVh 
Bzpo 

Sr. No. 

fsqG[iK dh ;zfynk 
Number of Triangles 

skfonK dh ;zfynk 
Number of Stars 

nB[gks 
Ratio 

a) 
  3 fsqG[iK L 4 sko/ iK 3L4 

3 Triangles : 4 Stars or 3:4 

b) 
  .... fsqG[iK L .... sko/ iK HHHHH 

HHHH Triangles : .... Stars or ...... 

c) 
  .... fsqG[iK L .... sko/ iK HHHHH 

HHHH Triangles : .... Stars or ...... 

d) 
  .... fsqG[iK L .... sko/ iK HHHHH 

HHHH Triangles : .... Stars or ...... 

 

3H fuZso ftZu 'O' ns/ '+' d/ nB[gks B{z ;ob o{g iK fBT{Bsw o{g ftZu fby'.       
  In Figure What is the ratio of   'O' to '+' in simplest form.                                     
                                                                                       
 

4H fuZso g{ok eo'L (Complete the figure)         
                                                                                                      

 
 

 
 5H fJZe Nkch dk w[Zb 50 g?;/ ns/ fJZe ukeb/N dk w[Zb 10 o[gJ/ j?. Nkch d/ w[Zb dk ukeb/N d/  

 w[Zb Bkb nB[gks gsk eo'. 
  One Toffee costs 50 paise and cost of one chocolate is Rs. 10. Find ratio of cost of toffee  

 to cost of chocolate .              
 

 

6H ;wkB nB[gks gsk eo'L (Find Equivalent Ratios:)                                           

 

 
 
   

  
 
   

  
 
 

   
 
 

   
 
   

  
 

     

     



7.  ;'B{z ns/ w'B{z d/ ftZu 20 ;/pK B{z 3L2 nB[gks ftZu tzv'.Distribute 20 apples between Sonu and Monu in 3:2 ratio. 
 

 

8H tor       ftZu fJZe nfijh ;zfynk j? fi; Bkb     , 24, 9, 12 ;wkB nB[gks ftZu j' iKd/ jB, nfijh ;zfynk gsk 
eo'.                                                           

 There is a number in box          such that         , 24, 9, 12 are in equivalent proportion. Find number in box. 

 

9H ojhw By 60 o[gJ/ d/ 2 feHrqkH ;/p t/u/ ns/ o'PB B/ 120 o[gJ/ d/ 4 feHrqkH  
 ;/p t/u/, fe;B/ ;/p wfjzr/ t/u/<       

Rahim sold 2 kg of Apples for Rs. 60 and Roshan sold 4 kg of Apples for Rs. 120. Who gained more profit? 

 

 

 

 

 
10H ;wkB nB[gks ;koDh g{oh eo'L                                                    

 (Complete equivalent ratio table) 

 

 

11H fJZe c?eNoh fJZe fdB ftZu 100 ekoK pDkT[Adh j? sK gzi fdBK ftZu fezBhnK ekoK pDkJ/rh< 
  If a factory produce 100 cars in a day. How many cars will be produced in 5 days? 

     

 
 
 
 
12H 5 ;Nqkp/oh dk w[Zb 15 o[gJ/ j? sK fJZe ;Nqkp/oh dk w[Zb eh j't/rk<                                                             
       5 Strawberries cost Rs. 15. What will be the cost of One strawberry? 

 

 

 

 

 

13H i/eo 4 g?ZBK dk w[Zb 12 o[gJ/ j? sK 1 g?ZB dk w[Zb eh j't/rk<  3 g?ZBK dk w[Zb eh j't/rk< 16 g?ZBK dk w[Zb eh j't/rk<                                                                      
4 pens cost Rs. 12. What will be the cost of 1 pen, 3 pens and 16 pens? 

 

 

 

 

7  63  

8 32  112 



Worksheet- 14              ;wfwsh                                
                                      (Symmetry) 
1H fdZshnK nkfeqshnK ftZu'A ;wfwsh nkfeqshnK s/ uZeo  

brkU.Circle  symmetric figures. 
 

2H j/m fdZs/ jo/e fuZso ftZu dkD/dko o/yk fyZuh rJh j?. 
gsk eo' fe fejVh ;wfwsh o/yk j? ns/ fejVh Bjh. jK iK BK ftZu T[~so fdU. In the following figure 

there is a dotted line on each figure. Find that whether the dotted line is symmetric line or not. Give 
answer in Yes or No. 

 
 
 
 
3H j/m fdZs/ fuZsoK B{z g{ok eo', id'A fe dkB/dko o/yk fJZe ;wfwsh o/yk j't/.           

Complete the following figures, where dotted line is a symmetric line. 

 

4H j/m fdZs/ fuZsoK dh ;wfwsh o/yktK fyZu'.Draw symmetric lines of the following figures.

 
 
5H j/m fdZs/ fuZsoK ftZu ;wfwsh o/yktK dh frDsh dZ;'. How many symmeteric lines are there in each of the 

following figures?                         
 

 

 

 

 

 

 



6H ;koDh g{oh eo'.Fill the Table. 

 

neko (Shape) nkfeqsh (Figure) 

;wfwsh o/yktK dh ;zfynk 
(Number of symmetric 

lines) 

;wG[ih fsqG[i 
(Equilateral Triangle) 

 
 

tor 
(Square) 

 
 

nkfJs 
(Rectangle) 

 
 

;wd'G[ih fsqG[i 
(Isosceles Triangle) 

 
 

uZeo 
(Circle) 

 
 

;wus[oG[i 
(Rhombus) 

 
 

 

7H nzrq/ih dh toBwkbk ftZu T[j fejV/ nZyo jB fizBQK dh 

In English alphabets, Which are the alphabets 
whose                                                       

T) ;wfwsh o/yk yVQth j't/ 

symmetric line is vertical 

n) ;wfwsh o/yk b/NthA j't/ 

symmetric line is vertical 

J) e'Jh ;wfwsh o/yk Bk j't/ 

No symmetric line 

;) b/NthA ns/ yVthA d't/A ;wfwsh o/yktK j'D 

Both horizontal and  vertical symmetric lines 








